FERAFHEZRZEFRRINE

SH4EIA 248

1 ZREE

EA=EESEN
= ® £ 2 ®H @R 4 X YN -| HFEE ZREHR
L i L& (RAR—YEERI—R) 20 0 0
L& (FrUT7HERI—X) 32 0 0
= A = i s 14 1 1
i £ L& (ANXFERI—R) 16 1 1
& XA CHERI—R LIS 33 5 4
- F& -y X )FTHAY 56 1 1
¥ I TE(EZI—RX) 1 0 0
& (—fika—X) 6 13 11
k2 13 & (FLUDNFI—R) 15 1 1
*5E XEZVDFI—RLIS 20 5 5
B BT E % I 7 0 0
BRIZ 3 0 0
AT 4 0 0
EmEF 1 0 0
F = L& 19 2 2
1BRFLE 16 0 0
ZEL-1EAE 38 1 1
R g 7 4 4
= B F E B REXRE 1 1 1
g b7 F RETHY 10 (EBEKFIEI—X) 5 0 0
5 B E B T&E 8 13 13
EFREEE 23 2 2
EfEaSa=4y—33> 23 3 3
F F I % = 5 0 0
BRI 31 1 1
BHREFIF 9 0 0
X M LB & & 96 0 0
HERR—Y 7 0 0
= B 3] & 12 0 0
BT 5 0 0
we 56 0 0
+ b= i L& (KI=E-£fffa—R) 21 0 0
L& (SbsEHET—R) 34 0 0
g2 v = 644 54 51
a 5 644 54 51

Wi ESE
= ® 2 2 8B £ - IN-| HEEE ZEREH
= B B I B 33 0 0
EDHRR 29 0 0
8 15 P 33 0 0
-] 3 & 95 0 0
W53 (R 2 8D B¥ - T 25 1 1
e B X BX 11 0 0
m 3L ¥ 3 & 36 1 1
a & 131 1 1

2 ZEEBIXKNTRASHEEZRAZEBER

=2 ® % ¥ 8B 4 S&AE HFEE ZEREH
X 1 & 3 IEp - &8 37 2 2
IE - & 9 8 8
MER - E&@ 30 0 0




